BN DNR T EDB

(a3 724



(A3

F2H)

IS5 BRE8 (BEEEMI - §HOM)
XD 30FER2BR 29FE (28R BRI (%)
HIE B8 EEEE | RIIE% Ge= EETE | RIIEE B8 EEEEE | (RIEE
3] & = 2 125 37 5 560 92 -60.0 -775 -58.9
BMKES 0 0 0 0 0 0 - - -
T8 s 2 126 50 2 322 129 0.0 -60.7 -60.7
Z D fto 0 0 0 0 0 0 - - -
N : 4 252 88 7 883 221 -42.9 -71.4 -60.0
ESRVAYN=_B7 N 0 0 0 0 0 0 - - -
5%; %8 2 B - 0B & I 0 0 1 157 39 _ _ _
VA B B X B B
TzlZ2 o ft 0 1 20 6 - - -
B =
N B 0 2 178 45 - - -
8 1T 2 fF 5 27 874 534 28 2,085 915 -36 -58.1 -416
S |18 MK E B 0 0 20 4 343 170 - - -88.2
Z D fto 5 27 17 4 16 33 25.0 67.9 -475
N B 32 902 572 36 2,445 1,119 -11.1 -63.1 -48.9
m B N 20 1,389 747 28 391 331 -28.6 255.0 125.1
b /AN S 0 0 0 0 0 0 - - -
Zz O 3 309 116 2 331 144 50.0 -6.5 -19.3
=] &t 59 2,855 1,524 75 4,231 1,862 -21.3 -325 -18.1
BRI, HHHFIERBLL21 3% /D5, FaEEEN'I2 5% FD2SEMR. RIEEREN
18 1% BD15BARER DI,
H55A BEASEOHRIEIKR
7,000
FErf2942H
5,708 .
6,000 30428
5,000 — m 3152 R
4,000 +—
3,000 — 2,445
2,262
2,000 +—
1,389
902
1000 . 883 857
40
O - T T T T O O O T
3] JRITITBUEANSE #ERTR X ETHY A4t ZDih
(BR BRI S (GEEEEH) O¥R2 9FE
40,000 7 m
DI 30FE
33,370
35000 [
30,000 -
25000 [ | |08 22,174 20,651
20000 |1 [ 19,264 18,847 19439 > 20,239
: 16,443 16142 | 16,31816.791 16,173
15,000 [ — 13,024
[ ] 7'8777,807
10,000
53015293 5471505, 42315455
5000 | —1 ¢t 1 | I 11"l 170 : '
. MM =
48 58 68 78 88 98 108 118 128 18 28 38




(R51] (3

16,3054 F~ 1

LR31E2H)

T 2P0 - EHRE (EEEE( - BHM)
XD 30FE 29FE IERER (%)
I8 521 EEER | RIIEE 53 EEE% | RIIEE 528 EEEE | RIIEE
3] & 4 37 4611 1,443 34 2,877 1,092 8.8 60.3 32.1
BMKESB 84 2,374 920 74 2,672 1,027 135 -11.2 -10.4
T8 8 109 15,156 6,124 86 14,314 5,844 26.7 5.9 48
Z D fth 13 210 83 11 690 268 18.2 -69.5 -68.9
N 5 243 22,353 8,571 205 20,555 8,233 185 8.7 4.1
AV NE=E N 9 384 174 9 375 149 0.0 23 16.5
5.%* %EE R -8R
\__L/Aig Pl R 1 73 30 4 423 209 -75.0 -82.5 -85.3
h% Z D i 7 505 121 10 1,064 262 -30.0 -52.5 -53.8
2 N E 17 963 326 23 1,863 621 -26.1 -48.3 -47.5
= = 1,051 37,950 15,583 1,163 47,402 19,474 -96 -19.9 -20.0
B2 M K E 3 515 14,889 5,885 575 18,608 7,500 -10.4 -20.0 -21.5
Z ) fth 59 2,322 943 46 994 436 28.3 133.4 116.2
N il 1,625 55,162 22,412 1,784 67,005 27,411 -89 -17.7 -18.2
M 111 I 1,220 56,917 24,443 1,331 64,601 25,731 -8.3 -11.9 -5.0
73 N #t 9 686 273 6 133 51 50.0 413.8 430.8
Z O o 185 14,056 5,032 174 9,966 3,533 6.3 410 424
=] &t 3,299 150,139 61,058 3,523 164,126 65,582 -6.4 -85 -6.9
2)_%&*’60)?2?&(3\ HEHEIEREBLLG 49%530D3,29001. :EEEEEN'8.5% D 1,501 BER.
{REEEEEN'G.OUNFMDG10EARER OIS,
B7AH s SmpRTENRR
80,000
Eri29428
67,005
70,000 z -
61064 64,826 64/5;);917 TR305F2A
60,000 5160 m 31428
50,000
40,000
25,941
30,000 22,353
20,555
20,000 — 14,056
9,425 9,966
10,000 +—
’ 2,923
o 1863963 269 133 086 l:
= éi_uﬂﬁc,f)\% FERTIR X ETHY 5 Z D
CEEeEE (EER)
2%?(7)%83) B 1 OFEDFEETERCHE (FHALL) _._1;@ (BB 5%%:3
Y .
s - D e = , | 4000
150,000 o - L~
*\*
4 3,000
100,000
1 2,000
50’000 N A W80 Weseee09 R0 Wm0 /weewe0909090 PeeRea00 w00 e - 1’000
0 L L L L L 0
H21 H22 H23 H24 H25 H26 H27 H28 H29 H30




b Sl = L
mEIA BIBIIAZIREEENINS
(E305F481B8~EK31E28288)
T 150 - SHRE (&8RN - §HM)
X5 30FE 20HE &R (%)

EaEs=] HE  EEeiE (RIS | HE  FE2% RIISR | HEH  EEEEE RIEEHE
5 /& ™ 136 5472 2,840 152 9,012 2486 -105 -39.3 14.2
sh g1 ™ 142 3,610 1,505 158 7,232 2,903 -10.1 -50.1 -48.2
J\ P ™™ 113 10,375 4,346 142 12,300 5178 -20.4 -15.6 -16.1
£ B @ 51 1,080 428 39 693 275 30.8 55.8 55.8

= BAINER™ 57 2,421 1,010 71 5,756 2816 -19.7 -57.9 -64.1
+ M B@B® 64 4,904 2112 69 4131 1,800 -7.2 18.7 17.4
= R ™ 77 3,933 1,604 101 3,973 1,365/ -2338 -1.0 175
H D 61 2,192 889 70 2,043 923 -129 7.3 -3.7
DN B 64 1,518 615 63 1,662 705 16 -8.7 -12.7
)l ™ 34 2,984 1,449 34 2,342 1,120 0.0 274 29.3
m & & 799 38,494 16,801 899 49,149 19574 -11.1 -21.7 -14.2
L R 28 503 199 36 776 304| -222 -35.1 -345
S Bl & 13 154 61 15 859 341 -13.3 -82.0 -81.9
Moo SR OB 12 248 99 21 569 227 -429 -56.3 -56.3
B 7 R @ 11 227 89 7 243 97 57.1 -6.7 -84
= OE 11 406 158 9 805 315 222 -49.6 -49.7
[ ) 18 1,213 484 17 1,145 455 5.9 5.9 6.2
NN -] 4 249 99 3 23 7 333 9852 1,206.2
oM B 16 954 378 6 66 26 166.7 13349 13222
B B @ 31 1,925 832 17 500 193 824 2848 329.8
b 8 @ 21 357 155 17 495 223 235 -27.9 -30.3

& 8% 0 #b & 5 46 17 7 72 28 -286 -35.3 -39.2
t P @ 37 1,201 524 36 1,130 446 2.8 6.2 175
' R 16 827 438 17 463 214 -5.9 78.7 103.8
g J @ 15 1,744 778 28 1,317 535 -46.4 324 455
NP 5 675 269 4 61 23 250 11,0028 11,0450
BNSEH 12 745 290 12 1,308 471 0.0 -43.0 -385
A B @ 13 780 253 10 130 51 30.0 496.3 390.1
= P 2 33 17 3 54 21 -33.3 -39.2 -18.4
A P @ 10 96 36 11 142 55 -9.1 -32.4 -34.2
B F @ 13 350 139 15 298 116] -133 17.6 20.0
E= ) 24 632 254 30 774 313] -200 -18.3 -18.8
B+ 8 13 185 72 1 169 66 18.2 9.3 9.5
B & § 330 13,560 5,652 332 11,408 4,540 -0.6 18.9 245
Z B N 8 280 111 9 244 97 111 14.4 13.9
CiZ= == N] 5 529 211 7 278 137 -286 89.8 54.5
B S 8 N 20 448 176 17 126 50 17.6 2543 250.7

i N o PR 31 2,365 996 38 1,848 722 -184 280 37.9
& B N 4 875 349 4 1,071 422 0.0 -18.3 -17.2
R B B AN 7 51 20 4 45 16 75.0 12.5 215
T H N 6 158 63 6 195 77 0.0 -19.0 -18.6
O N 10 152 60 15 233 92| -333 -344 -34.0
N & § 91 4,861 1,989 100 4,044 1,616 -9.0 20.2 231
w & 3§ 1,220 56,917 24,443 1,331 64,601 25,731 -8.3 -11.9 -5.0




